

GENERALIZED SCHWARZ LEMMAS FOR MEROMORPHIC FUNCTIONS

XIAOJUN HUANG AND LING CHEN

ABSTRACT. In this paper, we prove an analog of the generalized Schwarz lemma for meromorphic functions. Our results improve the classical generalized Schwarz lemma.

1. Introduction

The classical Schwarz lemma is one of the simplest results in all of the complex function theory. But there is hardly any result that has been quite so influential. Thanks in part to Lars Ahlfors' geometrization of the proof (he showed that the Schwarz lemma can be interpreted in terms of curvature), the Schwarz lemma has assumed a central and powerful role in complex geometry. A very simple and widely used general form of this lemma is as follows:

Theorem A (Generalized Schwarz Lemma). *Let k be a positive integer and $f(z)$ be an analytic function defined on the unit disk \mathbb{D} . If $|f(z)| \leq 1$ for $z \in \mathbb{D}$ and $f(0) = f'(0) = \dots = f^{(k-1)}(0) = 0$, then*

- (a) $\frac{1}{k!}|f^{(k)}(0)| \leq 1$;
- (b) $|f(z)| \leq |z|^k$ for $z \in \mathbb{D}$.

Moreover, the equality $|f^{(k)}(0)| = k!$ or the equality $|f(z)| = |z|^k$ at a single point $z \neq 0$ holds if and only if $f(z) = cz^k$ with $|c| = 1$.

Remark 1. The proof of the generalized Schwarz lemma please refer to [2].

Obviously, there is a natural problem for meromorphic functions: Can we get an analog of the generalized Schwarz lemma for the meromorphic functions? In this paper, we give an affirmative answer to the above question giving a proof using winding numbers and homotopy, as in [4] where the case $k = 1$ was done. Furthermore, our method gives a new proof of the original generalized Schwarz lemma.

Received December 1, 2010; Revised July 7, 2011.

2010 *Mathematics Subject Classification.* Primary 30C80; Secondary 30D30.

Key words and phrases. winding number, argument principle, homotopic theory, generalized Schwarz lemma.

Notational conventions. Through the paper, \mathbb{D} will denote the unit disk $\{z : |z| < 1\}$. For a meromorphic function $f(z)$, we denote by $n(r, f)$ the number of poles of f in $|z| < r$, counted according to multiplicity. By this notation, the number of zeros of f in $|z| < r$ is thus given by $n(r, 1/f)$. We denote by $\text{Wind}(\gamma, a)$ the winding number of the cycle γ around the point a .

Now, we state our results as follows.

Theorem 1. *Let k be a positive integer. Suppose that $f(z)$ is meromorphic on \mathbb{D} and satisfies the following conditions:*

- (1) $f(0) = f'(0) = \dots = f^{(k-1)}(0) = 0$;
- (2) *there exists a real number $0 < r_0 < 1$ such that $|f(z)| \leq 1$ for $z \in \{z : r_0 < |z| < 1\}$;*
- (3) *the function $g(z) = z^k - (k!f(z))/f^{(k)}(0)$ satisfies $n(1, 1/g) - n(1, g) \neq k$, provided that $f^{(k)}(0) \neq 0$.*

Then

$$\frac{1}{k!}|f^{(k)}(0)| \leq 1.$$

Moreover, the equality $|f^{(k)}(0)| = k!$ holds if and only if $f(z) = cz^k$ with $|c| = 1$.

Remark 2. Note that 0 is a zero of $g(z)$ with multiplicity at least $k+1$ when the function $f(z)$ is holomorphic and $f^{(k)}(0) \neq 0$ in Theorem 1. Thus the assumption (3) of Theorem 1 automatically holds if the function $f(z)$ is holomorphic. Therefore, the conclusion (a) of Theorem A is a corollary of Theorem 1.

Theorem 2. *Let k be a positive integer. Let $f(z)$ be a meromorphic function on \mathbb{D} and ω be a point, not a pole of f , in \mathbb{D} . Suppose that $f(z)$ satisfies the following conditions:*

- (1) $f(0) = f'(0) = \dots = f^{(k-1)}(0) = 0$;
- (2) *there exists a real number $0 < r_0 < 1$ such that $|f(z)| \leq 1$ for $z \in \{z : r_0 < |z| < 1\}$;*
- (3) *the function $g_\omega(z) = z^k - (\omega^k f(z))/f(\omega)$ satisfies $n(1, 1/g_\omega) - n(1, g_\omega) \neq k$, provided that $f(\omega) \neq 0$.*

Then

$$|f(\omega)| \leq |\omega|^k.$$

Moreover, the equality $|f(\omega)| = |\omega|^k$ holds at a non-zero point ω if and only if $f(z) = cz^k$ with $|c| = 1$.

Remark 3. We note that 0 is a zero of $g_\omega(z)$ with multiplicity at least $k+1$ when the function $f(z)$ is holomorphic and $f(\omega) \neq 0$ in Theorem 2. Thus the assumption (3) of Theorem 2 automatically holds if the function $f(z)$ is holomorphic. Therefore, the conclusion (b) of Theorem A is a corollary of Theorem 2.

Example 1. Define the meromorphic function

$$f(z) = \frac{6z^k}{(8z-1)} \quad \text{on } \mathbb{D}.$$

It is clear that $f(0) = f'(0) = \dots = f^{(k-1)}(0) = 0$ and $|f(z)| \leq 1$ for $z \in \{z : 7/8 < |z| < 1\}$. By a simple computation, we get

$$g(z) = z^k - \frac{k!f(z)}{f^{(k)}(0)} = \frac{8z^{k+1}}{8z - 1}.$$

Then $n(1, 1/g) - n(1, g) = k$. But $\frac{1}{k!}|f^{(k)}(0)| = 6 > 1$. So, this example illustrates that the assumption (3) in Theorem 1 is necessary.

Example 2. Define the meromorphic function

$$f(z) = \frac{z^k}{20(z - 1/2)^2} \quad \text{on } \mathbb{D}.$$

It is obvious that $f(0) = f'(0) = \dots = f^{(k-1)}(0) = 0$ and $|f(z)| \leq 1$ for $z \in \{z : 3/4 < |z| < 1\}$. At the same time, it is not difficult to find out

$$g(z) = z^k - \frac{k!f(z)}{f^{(k)}(0)} = \frac{z^{k+1}(z - 1)}{(z - 1/2)^2}.$$

Noting $n(1, 1/g) = k + 1$, then $n(1, 1/g) - n(1, g) = k - 1 \neq k$. Clearly, we have $\frac{1}{k!}|f^{(k)}(0)| = 1/5 < 1$. Therefore, this example shows that there exist the meromorphic functions satisfying all assumptions of Theorem 1.

Example 3. Define the meromorphic function

$$f(z) = \frac{z^k}{16(z - 1/2)^2} \quad \text{on } \mathbb{D}.$$

It is clear that $f(0) = f'(0) = \dots = f^{(k-1)}(0) = 0$ and $|f(z)| \leq 1$ for $z \in \{z : 3/4 < |z| < 1\}$. For the point $\omega = 3/8$, we obtain

$$g_\omega(z) = \frac{z^k(z - 5/8)(z - 3/8)}{(z - 1/2)^2}.$$

Then $n(1, 1/g_\omega) - n(1, g_\omega) = k$. But $|f(3/8)| > |3/8|^k$. This fact shows that the assumption (3) of Theorem 2 is necessary. Furthermore, for the point $\omega = -1/4$, we have

$$g_\omega(z) = \frac{z^k(z - 5/4)(z + 1/4)}{(z - 1/2)^2}.$$

Then $n(1, 1/g_\omega) - n(1, g_\omega) = k - 1 \neq k$. Simultaneously, it is easy to see

$$\left|f\left(-\frac{1}{4}\right)\right| \leq \left|-\frac{1}{4}\right|^k.$$

Hence, this fact shows that there exist the meromorphic functions satisfying all assumptions of Theorem 2.

Acknowledgements. This work was supported by NSFC Grant No. 10701084 and ZJNSF Grant No. Y6090641. Finally, we wish to express our sincere gratitude to the anonymous referee for his/her careful reading and very useful suggestions.

2. Proof of the theorems

Proof of Theorem 1. Let $\lambda = \frac{1}{k!} f^{(k)}(0)$.

Step 1. We first show that $|\lambda| \leq 1$. If not, then $|\lambda| > 1$. Thus we define the function

$$g_\lambda(z) = z^k - \frac{f(z)}{\lambda}.$$

If $g_\lambda(z) \equiv 0$ in \mathbb{D} , then $f(z) \equiv \lambda z^k$. Since $|\lambda| > 1$, we know that

$$|f(z)| > 1 \quad \text{for} \quad (1/|\lambda|)^{\frac{1}{k}} < |z| < 1,$$

which contradicts the assumption (2) of Theorem 1. Hence, $g_\lambda(z) \not\equiv 0$ in \mathbb{D} .

Step 1.1. We prove that there exists a positive real number r satisfying:

- (1) $g_\lambda(z)$ has no zeros and poles on $|z| = r$;
- (2) $\max\{(1/|\lambda|)^{\frac{1}{k}}, r_0\} < r < 1$;
- (3) $n(r, 1/g_\lambda) - n(r, g_\lambda) \neq k$.

It is clear that the set of poles of $g_\lambda(z)$ is the same as the set of poles of $f(z)$ in \mathbb{D} . Therefore, by assumption (2) of Theorem 1, we know that the total number of poles of $g_\lambda(z)$ in \mathbb{D} is finite and

$$(2.1) \quad n(\rho, g_\lambda) = n(r_0, g_\lambda) \quad \text{for} \quad r_0 < \rho < 1.$$

If the total number of the zeros of $g_\lambda(z)$ in \mathbb{D} is finite, then we can choose a real number r such that all zeros and poles of $g_\lambda(z)$ in \mathbb{D} are contained in $|z| < r$ and $\max\{(1/|\lambda|)^{\frac{1}{k}}, r_0\} < r < 1$. It is clear that $g_\lambda(z)$ has no zeros and poles on $|z| = r$. Since $n(r, 1/g_\lambda) = n(1, 1/g_\lambda)$ and $n(r, g_\lambda) = n(1, g_\lambda)$, combining the assumption (3) of Theorem 1, it follows that $n(r, 1/g_\lambda) - n(r, g_\lambda) \neq k$.

If the total number of the zeros of $g_\lambda(z)$ in \mathbb{D} is infinite, then, combining (3.1), we can choose a real number r such that $n(r, 1/g_\lambda) > n(r, g_\lambda) + k$, $\max\{(1/|\lambda|)^{\frac{1}{k}}, r_0\} < r < 1$ and $g_\lambda(z)$ has no zeros and poles on $|z| = r$.

Hence, the conclusion of Step 1.1 is proved.

Step 1.2. We show that $n(r, 1/g_\lambda) - n(r, g_\lambda) = k$.

Let γ and Γ be two Jordan curves in \mathbb{D} with parametric equations being

$$\begin{aligned} \gamma(t) &= re^{2\pi it}, t \in [0, 1]; \\ \Gamma(t) &= r^k e^{i2\pi kt}, t \in [0, 1]. \end{aligned}$$

It is clear that

$$(2.2) \quad \text{Wind}(\Gamma, 0) = k.$$

From the definition of winding number, it is easy to see that

$$\text{Wind}(g_\lambda \circ \gamma, 0) = \frac{1}{2\pi i} \int_\gamma \frac{g'_\lambda(z)}{g_\lambda(z)} dz.$$

Since $g_\lambda(z)$ has no zeros and poles on γ ,

$$\begin{aligned}
 \text{Wind}(g_\lambda \circ \gamma, 0) &= \frac{1}{2\pi i} \int_\gamma \frac{g'_\lambda(z)}{g_\lambda(z)} dz \\
 (2.3) \qquad &= \sum_j \text{Wind}(\gamma, a_j) - \sum_l \text{Wind}(\gamma, b_l) \\
 &= n(r, 1/g_\lambda) - n(r, g_\lambda),
 \end{aligned}$$

where a_j and b_l are the zeroes and poles of $g_\lambda(z)$, repeated according to multiplicity, cf., [1, p. 152, Th. 18].

In the following, we will show that $\text{Wind}(g_\lambda \circ \gamma, 0) = \text{Wind}(\Gamma, 0)$.

Consider the homotopy

$$\begin{aligned}
 h(t, s) &= \gamma^k(t) - s \frac{f(\gamma(t))}{\lambda} \\
 &= \Gamma(t) - s \frac{f(\gamma(t))}{\lambda} \quad \text{for } s \in [0, 1], t \in [0, 1],
 \end{aligned}$$

from the curve Γ to the curve $g_\lambda \circ \gamma$. Note that $r^k > 1/|\lambda|$, $|f(\gamma(t))| \leq 1$ and $|\Gamma(t)| = r^k$ for $t \in [0, 1]$. Then

$$\begin{aligned}
 |h(t, s)| &\geq r^k - \frac{|f(\gamma(t))|}{|\lambda|} \\
 &\geq r^k - \frac{1}{|\lambda|} > 0.
 \end{aligned}$$

So the two closed curves Γ and $g_\lambda \circ \gamma$ are homotopic in $\mathbb{C} - \{0\}$. Then, we deduce that

$$\text{Wind}(g_\lambda \circ \gamma, 0) = \text{Wind}(\Gamma, 0) = k.$$

Thus, according to (2.3), we get

$$n(r, 1/g_\lambda) - n(r, g_\lambda) = k.$$

This fact contradicts $n(r, 1/g_\lambda) - n(r, g_\lambda) \neq k$. Therefore, this contradiction shows that $|\lambda| \leq 1$, that is, $\frac{1}{k!}|f^{(k)}(0)| \leq 1$.

Step 2. We prove that $f(z) \equiv \lambda z^k$ if $|\lambda| = 1$. Recall that

$$g_\lambda(z) = z^k - \frac{f(z)}{\lambda},$$

where $|\lambda| = 1$.

Suppose that $g_\lambda(z) \not\equiv 0$ in \mathbb{D} .

With entirely similar arguments as Step 1.1, we can find a positive real number $\rho > r_0$ satisfying:

$$(2.4) \qquad n(\sigma, 1/g_\lambda) - n(\sigma, g_\lambda) \neq k \quad \text{for } 1 > \sigma > \rho.$$

Since $g_\lambda(z) \not\equiv 0$ in \mathbb{D} , it follows that there exists a positive number r such that $\rho < r < 1$ and g_λ has no zeros and poles on $|z| = r$. So, we have

$$\eta = \inf_{|z|=r} |g_\lambda(z)| > 0.$$

Choose a complex number λ' such that $1/r > |\lambda'| > 1$ and $|\lambda' - \lambda| < \eta$. Then

$$|g_{\lambda'}(z) - g_{\lambda}(z)| = |f(z)| \frac{|\lambda - \lambda'|}{|\lambda| \cdot |\lambda'|} \leq |\lambda - \lambda'| < \eta \leq |g_{\lambda}(z)| \quad \text{on } |z| = r.$$

By the general form of Rouché's theorem, we obtain that

$$n(r, 1/g_{\lambda'}) - n(r, g_{\lambda'}) = n(r, 1/g_{\lambda}) - n(r, g_{\lambda}).$$

Combining (2.4), we have $n(r, 1/g_{\lambda'}) - n(r, g_{\lambda'}) \neq k$.

Now, with entirely similar arguments as Step 1.2, we can get that

$$n(r, 1/g_{\lambda'}) - n(r, g_{\lambda'}) = k.$$

This equation contradicts $n(r, 1/g_{\lambda'}) - n(r, g_{\lambda'}) \neq k$. Therefore, this contradiction shows that $g_{\lambda}(z) \equiv 0$ in \mathbb{D} , that is, $f(z) \equiv \lambda z^k$ where $|\lambda| = 1$. Hence, Theorem 1 is proved. \square

Proof of Theorem 2. If $\omega = 0$, the inequality $|f(\omega)| \leq |\omega|^k$ automatically holds as $f(0) = 0$. So, without loss the generality, we may assume that $\omega \neq 0$.

Let

$$\lambda = \frac{f(\omega)}{\omega^k} \quad \text{and} \quad g_{\lambda}(z) = z^k - \frac{f(z)}{\lambda}.$$

Now, with entirely similar arguments as the proof of Theorem 1, we can prove Theorem 2. Here we omit the details, which are left to the readers. \square

References

- [1] L. V. Ahlfors, *Complex Analysis*, 3rd ed., McGraw-Hill, New York, 1978.
- [2] G. M. Golusin, *Geometric Theory of Functions of a Complex Variable*, Translations of Mathematical Monographs, Vol. 26, American Mathematical Society, Providence, R.I., 1969.
- [3] Z.-X. He and O. Schramm, *On the convergence of circle packings to the Riemann map*, Invent. Math. **125** (1996), no. 2, 285–305.
- [4] X. J. Huang, L. Shen, and Y. X. Gu, *A remark on the Schwarz lemma*, Adv. Math. (China) **37** (2008), no. 2, 222–226.

XIAOJUN HUANG
COLLEGE OF MATHEMATICS AND STATISTICS
CHONGQING UNIVERSITY
CHONGQING 400044, P. R. CHINA
E-mail address: hxj@cqu.edu.cn

LING CHEN
COLLEGE OF MATHEMATICS AND STATISTICS
CHONGQING UNIVERSITY
CHONGQING 400044, P. R. CHINA
E-mail address: chenling110110@163.com